1. o% "3 Zo] /€ =90°

o] A
ABC o4 AE = AC, ABLDE
o] Zo]=?

Al A4
o o, DC
® 3cm (@)Gcm
@ 8cm

® 7cm
® 10cm

AAED = AACD (RHS 2
.. ED=CD =6 (cm)




t}. /BAC = 70°

® sABC @)/ACB ® (EAC

ZolE Aoz /BAC = /DAC = 70° o]t} /DAC =
(ACB (%1Z}) o]t}
wrabA] /BAC = /ACB o]t}




AABC A /B = olmg
/PBC =) Jx B = 3 x [0 |=[h ]
utebA APBC & ott.

Oh ~ @poll Eo1Z Aoz 4 gL ALY

@ pj .C @u 2
® @ «C @ @) ,PCB

© @) ol sHHAR

B

AABC 94 /B = («C)olBE=2
1 1
(PBC = (§> x /B = 3% (4C )= («PCB)

wretbA] APBC &= ( ©l58AZE ) ot




4.

o}

O

]

1=
AR

D 90°

o4 sABC £ AB = AC ¢l 0|57t
PQE I%le W, zx+ 2y 9 27

A

30°

L9

-

P

@ 100°

@ 110°

@120°

Q

ofll

o] AB 9}

® 130°

o,
o2

o



578

APOA 9} APOB ©J|A]

(POA = (D) ------ @

@35 - ©

(®)=/0BP =90°------ ©

@, ©, ©°ll ©J514 APOA = APOB (@) &5
- (®)=PB

@ /POB ® OP 3 /OAP

APOA 9} APOB ¢4 /POA = ( /POB ) -+ ©
(OP )25 ...... ©

( LOAP )=/0OBP=90°::---- ©®

9, ©, ©°1 2314 APOA = APOB ( RHA ) &5
.. (PA)=PB

kA 7] 2 A2 @oltt.




